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LOGIC AND PHILOSOPHY

Full Marks : 100

 Pass Marks : 30

Time : Three hours

The figures in the margin indicate full marks
. for the questions. ‘

Q. No. 1 carrigs 1 mark each . | : 1x12 = 12

Q. No. 2 -13 carries 2 marks each - 2x12 = 24

Q. No. 14 - 23 carries 4 marks each | 4x10 = 40

Q. No. 24 -27 carries 6 marks eacly | _ 6X4 = 24 :
| Total =100 |

Coritd.




1.

28T LOPH (BENG) [2]

+)) httpy//www .elearninginfo.in

Give very short answer: . . | 1x12=12
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What is induction improperly so called ? | 1
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Is the conclusion of scientific induction certain ? 1

What is the basis of unscientific induction ? 1
ST SN S F12
“Plants like men have birth, growth, decay and death. Men

possess intelligence, therefore plants also possess intelligence”.

— What type of analogical argument is this ? 1
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Can th
€re be more than'one cause.of an effect ? - 1
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What is working hypothesis ? | .1
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Give omne exampie of a secondary quality. | 1
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(1) Name the philosopher who said that esse est pérCiPi ?

UAOJCF I TN — & el
() What is called a voluntary action ? | 1
(k) Give one example of a non-moral action. 1

ReioT IO GG BnIzgel 71e |

'(l) From which Latin word the term “Religion” has been derived ?

1
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i What is a goog analogy ? . | . | 2

3 I. T Wmm?)

Name the theOry according to whlch Thought and Reahty are at

| bottom ldenhcal (Reahty is rat1ona1) Who advocates the theory 7.

2
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Define inductive leap. ‘ o 2
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What is the meaning of the law of the conservation of matter and

energy?"_ - | . 2
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What is the intellectual condition of observation ? .
R (Gife X e

6. Why the conclusion of analogical argument is probable ? 2
AP SRR Pl @ ASRARETS 2

7. State Mill’s canon of the Method of Agreement. 2

S S FeCE whw e (Mill) a@ﬁ@a@ el |

8. Name the experimental method which determines the quantitative

relation between cause and effect. -« 2
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Can an
‘ aCtlon
. of an insane person be called a moral actlon 7. Give

one reason
In SUpport of your views. , 1+1=2
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What ; : | | |
tis the IMeaning of ‘intention’ ? =

SR -ag g ey

What are the ultimate values of hurhan life ? Name the ideal or the

- value with which ethics is concerned. - 1+1=2

W@W I NS 1B 2 WWQWWWW? |

Write two points of similarity between Religion and Morality.

1+1=2
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Why is the Method of Difference called a Method of Proof ?

JIFOEH! AN @ 2N Aot} To0 =22

13. What is forma} cause according to Aristotle ? - ' 2

SHIRBHIER S SNTRS TR I 61 ZH 2

14 Explain the meaning of ‘purusartha’. What are the four values or
goals of human life as recognised by Classical Indian Philosophy ?

2+2=4
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15. State th B3 .
€ Principle of elimination on which the Method of Difference
is based. 4
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Explain the fallacies of observation with examples.

FrFeR o CWIRETTR IOt B |
16. Explain the different stages of hypothesis with examples. 4

WWW%WQWWWWI

17. Mention four disadvantages of the Method of Difference. - 4

TSR AEfea 51l SRR S S|
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Why Mill has described the experimental methods as the ‘methods

of elimination’ ?

| Wﬁs ARSI Mill @ “Sioioiael #[af’ e Syl R 2

“The ground_. of induction is the result of induction” — State two

reasons as to why this statement of Mill cannot be accepted.

2+2=4
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Define scientific realism. State the exponent of scientific realism.

3+1=4
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19. Which theory holqg that the external world can be known directly

20.

21.

22,

as i g ~
1t really js ? Siate two reasons as to why this theory cannot be
accepted. ) 2+42=4
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What is solipsism ? Name the theory with which solipsism is

associated. P | | 2+2=4

SRR 1?2 SRR 7o Sio® ©gng A T |

State the names of different kinds of induction with chart.

2+2=4
W%WwwmwwW|

State four points of difference between scientific induction and

unscientific induction. 4
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Name the fallacy which sometimes vitiates the Method of Difference
when employed as a method of observation. Give an example in

this context.

R Bote S 0 SeiRamre: R 2l el T G
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23. Explain very briefly four advantages of experiment over

observation. 4

L e SR sr AR S oA gt T

24. Define scientific induction with example. State why it is called
‘Scientific’. Briefly explain three features of scientific induction.

2+1+3=6
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What j '
L s Analogy ? How can the value of analogical argument be
determined 7 . ety - 244=6

25. Explain the principle of the Uniformity of Nature. Why it is called

the formal ground of induction ? ' ‘ 4+2=6

PO el R it et | @2 RiRG @ oo ke fsfe
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What is observation ? Describe the characteristics of observation.

1+5=6
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26. What are the conditions of a legitimate hypothesis ? Explain any two

of them, 2+4=6
(Y HITHA &Nz F e Ay 2w 7f6 *Ir6a g1t el |
Or / izal
Explain and illustrate the following ty'peé of hypothesgs :
(a) Hypothesis Concerning Agent

(b) Hypothesis Concerning Law and

(c) Hypothesis Concerning Collocation.

2+2+2=6 .
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Expl

27. plain brleﬂy three advantages of the Method of Agreement. Why
is thi
s this method called the Method of Discovery ? . 4+2=6
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ﬁStafce Mill’s canon of the .Method of Concomitant Variation. Explain

the limitations_of this method.
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